RYOBI
18 Volt Grease Gun
Model Number P3410
Repair Sheet

ONE WORLD TECHNOLOGIES, INC.
P.O. Box 1288, Anderson, SC 29622 ¢ Phone 1-800-525-2579
www.ryobitools.com



RYOBI 18 VOLT GREASE GUN - MODEL NUMBER P3410

A

e

13




RYOBI 18 VOLT GREASE GUN - MODEL NUMBER P3410

The model number will be found on a label attached to the motor housing. Always mention the model number in all correspondence regarding your

18 VOLT GREASE GUN or when ordering parts.

KEY PART
NO. NUMBER
1 660024015
2 564875001
3 660414015
4 564876001
5 204928002
6 204928003
7 204928004
8 313739001
9 690366001
10 690364001
11 670081002
12 697243001
13 303534004
14 204928005
15 206928004
16 313737001

PARTS LIST
KEY PART

DESCRIPTION QTY NO. NUMBER
Screw (M4 x 14 mm, T20 Torx Pan Hd.) ............. 13 17 660160004
Hose Holder (Front Cover)......c.coovveeccvivvieeeeeeeennn. 1 18 662895001
Screw (M4 x 14 mm, T20 Torx Pan Hd.)................ 4
Hose Holder (Back Cover) ........ooooieeeiiniiieeneenee, 1 19 536323001
Housing Assembly (Inc. Key Nos. 26-27) ............. 1 20 634714001
Grease Tube & Cover Rod Plunger Assembly ...... 1 21 536318001
Gear Case ASSEMDIY .....cccceriiiiiiiee e 1 22 695052001
VENt VAIVE Kit .....eeoveeeceeoeeeeeeeeeeeeeeseses s 1 23 564900001
Ball (3/8 M. DIAL) veveeeeeseeeeeeeeeseeeeseeeeeee s 1 24 565005001
Compression SPriNg ....cccccceveeeeeeeeeeee e e eceneeeeeees 1 25 536319001
WaASKEN ..o 1 26 941655026
SCrEW PlUG..ceeeiiiiiiiie et 1 27 941122165
HOSE COUPIET ....eeiiiiieieeeeeeee e 1
Circuit Board Assembly ........cccoovieeeiieiiieee e 1 995000783
Motor ASSEMDIY ......c.eveiiiiiieiee e 1 4-4-19
HOSE ASSEMDIY ....cveeeeieieeeieeiec et 1 (Rev:01)

DESCRIPTION QTY
Set Screw (1/8 in. x 1/4 in., Hex Soc. Hd.) ........... 1
Screw w/Washer

(M4 x 8 mm, T20 Torx Pan Hd.) ...ccceeevveeiinnieeee. 2
Lock Off BUHON......ccoeeiieeeeeeeee e 1
SPring Plate ......eeeviiii e 1
SWItCh THQGEr .. 1
Compression SPriNg .....occcceeeeeeeeieeeee e 1
Hose Holder (Back Support)......ccccceeeeeeiiieeneeennee. 1
Hose Holder (Front SUpport)........ccccceeeeeiveeneennee. 1
Led COVEN oot 1
[IoTo T TN I= T o 1= 1
Data Label......ccoooviiiiiiieeeeeee e 1
Not Shown:

Operator’s Manual (961153012)




RYOBI 18 VOLT GREASE GUN - MODEL NUMBER P3410

CONTACT PLATE

SWITCH

RED
Ve

W WITCH
‘/-) RED

WHITE

CIRCUIT BOARD
ASSEMBLY

\\ LED

RED

MOTOR

WIRING DIAGRAM

4




